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I nm a2 oR’s source for NRIN N9IR NOR of N"aa
a g arev. 1 (0p) v, 2 (9Np) 2 nYIR NOR
i AN TOoK: via Y'p from nYIY
1 if: 057y, which wasn’t the result of a prohibited act, is nx1n2 MR
2 then certainly: n"a1, which was the result of a prohibited act, is nXina T1oR
(a) challenge: N5y was never permitted unlike n"aa
(b) save: noaa ynn, which had a moment of fitness (before 1), yet is nR1n2 MOR
(i) challenge: ynn is severe as evidenced by the punishment of n12
(if) save: D130 *RY3, which has no N1 attached and had a 7w1n nyw- yet is NR1N2 NNOR
ii  analysis: analyzing the X792
1 question: why employ the w"n; could have all been inferred via vp from 0%y (as it evolved)?
(a) answer: v"p alone could have been broken — mixed plowing and plowing with muzzled ox disprove it
2 question: why respond to the ynn-challenge with ©%53;why not ricochet to N7y and employ T30 nna (HCD)
(a) answer (?wx "7): N921 breaks that “HCD” (highest common denominator); n%282 MOR yet R1N2 IMN
(b) challenge (»wx *15): 91 taught that 780 nna may only be challenged internally (from ranged sources)
(i) therefore: we should have been able to infer from 757y and ynn alone
(if) answer: HCD could have been challenged — both ynn and n%1p are from the ground (unlike n"aa)
1. challenge: mRY) (the 3™ source) is also Yp7p *7171) — what did we gain by adding it in?
2. clarification (in 5”7's name): even an insignificant difference can be used to break a 7¥n nna, but
when we infer via 1"p (1-to-1) the “breaker” must be significant
a. therefore: why not challenge the 7¥n nna - all 3 ranged sources are YpIp "7
3. clarification: (5" ©W1 *>7In ") — here are the rules of challenging an inference:
a. when: itis1”p, one from one — the challenge must be significant
b. when: it is one from two — even an insignificant challenge is valid
c.  when:itis 1-from-3 (as in our case);
i.  if: we employ HCD, any challenge is valid (but must be internal)
ii.  but if: we maintain 'p, challenge must be significant (but may be external)
3 question: why not challenge HCD by noting that 0930 »x%2 never had w10 nyw?
(a) answer (7378 72 878 7): this proves that the roots of D131 '8Y3 are 1oR (but were “fit” before taking root)
(i) challenge: if someone passes a perforated planter in a vineyard, if it increased by 1/200 — 1vox
(ii) answer (7238): v. 3 uses both nRYnn wTpPN 12 and Yt
1. resolution: that which was planted ab initio is 1"oR at roots; if newly “mixed”, only if it added 1w
II  Attribution: our mwn does not conform to w” who permits nXin from n"11, per vv. 1-2
III revisiting y" and »"m:
a  p”1r how can he use »m (x3) to eliminate 9y ,i"n and NXnY N2 — we already used all 3 as per YRnw (above)
i answer: he holds MR Y Yn NUR(>no need for 25N or nnn); the embryo is a full animal - all 3 are “available”
b 177 disagrees with " about n'n — whether it is n”nn (1) or v (¥™)
i or: they disagree about 91y, whether it is even v”1n 7708 (¥™) or not at all (3”n”)
ii  supporting 81772 in R™’s town, they would cut wood (to heat up knife for n%n — on naw —see X:v’ naw) and in
»7’s town they would eat fowl with milk
1 story: n% came to town, was served pheasant with milk and said nothing (presumably, he didn’t partake);
when he came to »27 and related the story, '3 asked why "% didn’t excommunicate his hosts for violating law
(a) answer: it had been the town of n1’na 12 N1’ *3; he assumed that they were following his teachings

www.dafyomivicc.org 98 © Yitzchak Etshalom 2011




WD TIYRIVT YIRS 791 noon M AT TINOY Y UpT

IV n mwn: milk in animal’s stomach and curdling cheese
a if: milk is found in stomach of animal owned by non-Jew or a n%2), it is 17oR
b if: he uses the stomach to curdle cheese - if there is v", it is 7oK
¢ /77w Apna: that nurses from a 19710 — the milk in the n1w3’s stomach is prohibited
d  but 79770 Apnz: that nursed from a nw1 — the milk in the na™v’s stomach is permitted
V  Analysis: explanation of two clauses — "3 nap and n%11 nap — isn’t an animal slaughtered by a non-Jew a n%a1?
a  ~217 27 reference is to a kid bought (live) from a non-Jew; concern is that it nursed from a na»v
i challenge: we don’t generate such concerns, per 72:3 %N Xnavin — may buy eggs from anyone without concern that
they come from n%11 or na*v
1  repair: concern is that it nursed from a nxnv NN
2 question: why is that concern legitimate, whereas 19101 10 Py RnW isn’t?
(a) answer: namv is far rarer than NRkNY NN
(b) challenge: if so, why aren’t we concerned that one of our animals may have nursed from a nrnv?
(i) answer: since we avoid mxrnov mnna and we push our animals away when they come close —no 7
b Snxmw. read the two phrases as one — n921 " nap, meaning the stomach of an animal slaughtered by a » (=n%a1)
i challenge: YR1v explained the prohibition of 0”3 nya3 as due to their curdling the cheese in the stomach of the n%a3
1 implication: the milk in the stomach itself is not prohibited
2 defense: our mwn represents Y1 "V's first approach (n:2 1"y - what YRnWw is explaining here); YR1nW’s final
determination as to the reason for D N1y MO is per YV "V's final answer (ibid - 1y 'Y NP2 NMR PTNYN)
VI Analysis of 3" clause — the milk follows the identity of the source, not the “host” stomach
a  challenge (to permission to drink 77®2 25nin the stomach of a 79770): 1% clause of mwn prohibits milk in stomach of n%a)
i answer (X701 7): in 1t clause, he looks to be eating n%»), here, there is nomw
ii  challenge (X¥37): if so, v"p it should be prohibited:
1 if: anb1is repulsive; even if we allowed the milk, no one would eat its meat, yet we prohibit the milk
2 then certainly: a N0 which is slaughtered, if we allow the milk one may eat from it — should be 1vox
iii  rather (per pany 77 Dwa 9oY 93 Ny’ ’7): our RW represents YW1 '7’s first explanation (above); this clause follows his
conclusive explanation —
1 and: once a mwn is committed to memory, we don’t modify it
VII 11y "7’s dictum (quoted by ®ar 72 ®»n "1): we may curdle cheese in a nYa)-stomach, but not in one slaughtered by a non-Jew
a  response (Nax 72 pypw 7): this seems to follow 8", who holds that 0”2y nawnn ono is for 1"y (= nap is MoOR due to 1)
b version (1311 “1quoted by jzny’ 77 92 58w “7): we may use either n%21 or " nvNY for curdling cheese — no concern for X"
¢ final ruling: we do not curdle with the skin of a nYa1-stomach, but may curdle in a ny23-stomach or the stomach of a
w1 that nursed from a n9»v — all the more so in the stomach of a na»v that nursed from a n1wa
i reason: the milk which is inside is XnYya Rw9, not real food
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